4S7KG  4S7KG DE 4S7VJ +K
4S7VJ DE 4S7KG

GE WIJE UR RST 599 599 SO HW=

WX HR RAINY ES QRN=
4S7VJ DE 4S7KG K
4S7KG DE 4S7VJ

GE KULE TNX FER CALL
TNX FER RST UR RST 599+ 599+ =

WX HR ALSO SAME QRN ES QRM=
SHALL WE QSY 5 DWN BCUSE HV QRM=
4S7KG DE 4S7VJ K
4S7VJ DE 4S7KG

R R DR WIJE QSY

4S7VJ DE 4S7KG

4S7KG DE 4S7VJ 

UR RST 599 599 HW CPI BK

4S7VJ DE 4S7KG

UR 599 599 GUD CPI NO QRM= 
4S7VJ DE 4S7KG K

4S7KG DE 4S7VJ

TKS KULE R U CUM FER RSSL MEETING TMW

BK

BK QSL QSL BK
4S7KG DE 4S7VJ 

R R TNX 

SO CUAGN TMW FER EYE BALL QSO

73 73 GN
4S7KG DE 4S7VJ VA
4S7VG 4S7KG

73 73 CUAGN

4S7VJ DE 4S7KG VA EE
